
Y4 – Summer – Block 1 – Step 1 – Make a whole with tenths Answers

Question Answer

1

a) 8 + 2 = 10
0.8 + 0.2 = 1

b) 6 + 4 = 10
0.6 + 0.4 = 1

c) 4 + 6 = 10
4

10 + 6
10 = 1

They are adding the same digits, but the first calculation is adding ones and the second 
calculation is adding tenths.

2

a) 2
b) 8
c) 2 tenths + 8 tenths = 1 whole

0.2 + 0.8 = 1

3

a) 3 tenths + 7 tenths = 1 whole
0.3 + 0.7 = 1

b) 9 tenths + 1 tenth = 1 whole
0.9 + 0.1 = 1

4

a)

b)

c)

d)

5
No
9 tenths + 1 tenth = 10 tenths = 1 whole

0.6

0.3

1

5
10

or 0.5

or 6
10

or 3
10



Y4 – Summer – Block 1 – Step 1 – Make a whole with tenths Answers (continued)

Question Answer

6

a) 0.3

b) 6
10

c) 0.2
d) 0.6

e) 6
10

f) 0.3

7

0.4      4
10

10
10

−
7

10
=

3
10

Ron’s number is  3
10 so Sam’s number is  6
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